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Logic  game 

Of  thrones 

Author: Eli Goodfriend, New York, NY 

N    I    K    O    L   A     I 

F    A    T    I   M   A 

G    E   O    R   G    E 

R    O   B    E    R   T 

H   E    L    E    N   A 

G   U   D    R   U   N  

A   N    A   B    E   L 

B   A    R   A    C   K 

J    U   D     I    T    H 

Trees: mahogany, ebony, saffron 
Animal: silk, pearls, ivory 
Metal: gold, silver 

(this is the only place Nikolai fits) 

You get these  
clusters of letters  
(starting at Nikolai  
and going clockwise): 
KIN  GO  FT  HE  RO  UN  DT  AB  LE 
 So the answer is ARTHUR 

Pull out the letters 
that the swords point 
to. Order them in the 
order that the swords 

are stacked (if they  
are stacked). 

 


